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You showld hawe the following for this examination,
Answer bookler,
Muathematical ahles/sclentific calculator,
Drawing instrusments.

This paper consises of EFGHT questions

o~ dAnswer FIVE gucsttons,

Al questions carry equal marks.

Meiximmem marfks for each part of @ quesiion are indicated

Candidates should anywer the guestions in Engiish.

This paper consists of 5 printed pages.

Candidates should check the question paper (o ascertain that
all the pages are printed as indicated and that no guestions are missing,
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(b)  Thecost of five saws and cight hammers is Ksh 24,600 while four saws and six_°

hammers cost Ksh 19200, Use the inverse matrix method 1o find the cost of each
iterm. (& marks)

(e} Apieceof imber of length 2.5 metres is cut into three smaller pieces in the ratio
1:3:4, Determine the length of each piece. (6 marks)

@ 8 Drraw the graph of the curve;
y=21'—4r—6 for values of zbetweenr=—2andr=4.
(ii}  Hence solve the equation 22" +fix+4=10. {14 marks)

(b)  Solve the following simultaneous equations by elimination :
i |.3:+-4y‘:5 ! e 1?_! i -::d : =

[22+3y=4 ' o e 2 o6 i

]

A, The ultimate tensile stress in kKN/m® of steel rods in a store were recorded as in Table |,
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Calculate the: 3 | e
(a)  mean; (5 marks)
(k)  standard deviation; Crame (4 marks)
(c) mode; G ks)
{d) median; (4 maike)
(e}  upper quartile. i
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. {a}  Figure 1 shows the cross-sectional arca of a nvel
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Determine the volume of the rivet (10 marks)
(b}  Asegment is bounded by a chord of length 14 cm and an are of mdius 25 om,
Determing the:
(i) are;
(ii)  perimeter of the segment. { 1Y marks)
7. (a) (i)  Make x the subject of the formula:
£=yVd—gz' and;
{ii) hence determine the possible vahues of x when V =22, d=5and g = 1010
three decimal places, (T marks)
() Solve the equations:
(0 dsinz— Jeosecz =1);
(i) Beoos's-Teosxr+2=0,
For values of % between 07 and 360° inclusive. (13 marks)
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K. {a)  The exchanpge rates on o cerlain day were:

1 American Doller (US $) = Ksh 74.75
| Bwiss Franc (Fr)=55.60

Calculate the Swiss Franc equivalent of US § 831,220, (4 marks)

(b)  Aman invests Ksh 400,000 in a bank which pays a compound interest of 12%
per annum, four years. Calculate the interest earned to the nearest shilling. (5 marks)

3

(e}  Given the vectors :_;=(_E‘1}und.!‘: E(‘i)‘ determine:
|3a+26]. (5 marks)

(d)  Three scréws out of twenty in a box are over-size, Two screws are picked out of
the box one after the other without replacement. Determine the probability thar:

(i)  both are oversize;
(ii}  noneis oversize:

{iil)  only ope is oversize, {6 marks)
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